10095120

m DIESEL

{ (1.60)

(mm)

c.c.

1870

(mm)

1

F8Q-622

F8Q-600;F8Q-606;F8Q-630;F8Q-632;F8Q-662;F8Q-788;F8Q-
790

F8Q-600;F8Q-606;F8Q-630;F8Q-632;F8Q-662;F8Q-788;F8Q-
790

D19T;D4192T;F8Q-610;F8Q-740;F8Q-768;F8Q-784;F8Q-
786;F8QT

DACIA, MITSUBISHI, OPEL

1) 3 Kom
2) 50°
3)-180°
4)2.5 Kom

2 1) 3 Kom
2) 50°

3)-180°

4)2.5 Kom

3 1) 3 Kom
2) 50°

3)-180°

4) 2.5 Kom

4 1) 3 Kom
2) 50°

3)-180°

4) 2.5 Kom

5) 213°

5)213°

5)213°

1 1) 22 Ibft 5)213°
2) 50° 6) <>
3) -180° 7)120°
4) 18 Ibft

2 1) 22 Ibft 5) 213°
2) 50°
3)-180°
4) 18 Ibft

3 1) 22 Ibft 5)213°
2) 50°
3) -180°
4) 18 Ibft

4 1) 22 Ibft 5)213°
2) 50° 6) <>
3)-180° 7) 120°
4) 18 Ibft

1,2,3,4 NO

1,234 NO

RETIGHTENING

RETIGHTENING
LSRR

-

S wWwN

81016100 M12X1.50X121(10)
81016100 M12X1.50X121(10)
81003000 M12X1.50X111(10)
81016100 M12X1.50X121(10)

ROUGHNESS

ALUMINIU
s, B BSFTEm 2.3 um MAX
T AST IRON

FUNDICION 1.5/1.8um 3.8 um MAX

CRONCNORU)
®O00606

TORQUE SEQUENCE

CHECK CATALOG

AJUSA IS NOT RESPONSIBLE FOR ANY UPGRADE
AFTER THIS DOCUMENT HAD BEEN PRINTED.
FOR MORE INFO, PLEASE SCAN THIS QR CODE
OR VISIT OUR WEBSITE www.gjusa.es

AJUSA NO SE RESPONSABILIZA DE CUALQUIER
ACTUALIZACION POSTERIOR A LA IMPRESION
DE ESTE DOCUMENTO. PARA MAYOR
INFORMACION CAPTURE CON SU SMARTPHONE
EL SIGUIENTE CODIGO QR O VISITE NUESTRA
PAGINA WEB www.ajusa.es

-®




